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(SP, CP, MP basic questions) 
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Concept Lecture – 3



A trader marks his goods 𝟐𝟎%
above cost price but allows his
customers a discount of 𝟏𝟎%, the
cost price of blackboard, which is
sold for Rs.𝟐𝟏𝟔, is
एक व्यापारी अपने माल को लागत
मलू्य से 𝟐𝟎% अधिक अंककत करता
है, लेककन अपने ग्राहकों को 𝟏𝟎% की
छूट देता है, ब्लकैबोर्ड की लागत
मलू्य क्या है, जिसे रु 𝟐𝟏𝟔 में बेचा
िाता है
a) 𝟏𝟎𝟖 b) 𝟏𝟗𝟔
c) 𝟐𝟎𝟎 d) 𝟏𝟖𝟎
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A dealer offers a discount of 𝟏𝟎% on the
marked price of an article and still makes
a profit of 𝟐𝟎%. If its Marked price is
Rs.𝟖𝟎𝟎, and then the cost price
एक र्ीलर एक वस्तु के अंककत मलू्य पर
𝟏𝟎% की छूट प्रदान करता है और किर
भी 𝟐𝟎% का लाभ कमाता है। यदद इसका
अंककत मलू्य रु 𝟖𝟎𝟎 है, तो लागत मलू्य
ज्ञात कीजिये:
a) Rs.𝟔𝟎𝟎 c) Rs.𝟕𝟎𝟎
c) Rs.𝟓𝟎𝟎 d) Rs.𝟔𝟐𝟎
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The cost price of an article is
Rs.𝟖𝟎𝟎. After allowing a discount of
𝟏𝟎%, a gain of 𝟏𝟐. 𝟓% was made.
Then the marked price of the article
is:
एक वस्तु का क्रय मलू्य 𝟖𝟎𝟎 रु है।
𝟏𝟎% की छूट की देने के बाद,
𝟏𝟐. 𝟓% ​​का लाभ हुआ। तो वस्तु का
अंककत मलू्य ज्ञात करे:
a) Rs.𝟏𝟎𝟎𝟎 b) Rs.𝟏𝟏𝟎𝟎
c) Rs.𝟏𝟐𝟎𝟎 d) Rs.𝟏𝟑𝟎𝟎
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A shopkeeper sold sarees at Rs.𝟐𝟔𝟔
each after giving 𝟓% discount on
labelled price. Had he not given the
discount, he would have earned a
profit of 𝟏𝟐% on the cost price. What
was the cost price of each saree?
एक दकुानदार ने अंककत मलू्य पर
𝟓% की छूट देने के बाद प्रत्येक साडी
को 𝟐𝟔𝟔 रु में बेचा। अगर उसने छूट
नहीं दी होती, तो उसे क्रय मलू्य पर
𝟏𝟐% का लाभ होता। प्रत्येक साडी का
क्रय मलू्य क्या था?
a) Rs.𝟐𝟖𝟎 c) Rs.𝟐𝟔𝟎
c) Rs.𝟐𝟒𝟎 d) Rs.𝟐𝟓𝟎
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A sofa set carrying a sale price ticket of
Rs.𝟓𝟎𝟎𝟎 is sold at a discount of 𝟒% thereby
gaining 𝟐𝟎%. The cost price of the sofa set is:

एक सोिा सेट पर Rs.𝟓𝟎𝟎𝟎 मलू्य अंककत
ककये हुए थे जिसे 𝟒% की छूट पर बेचा िाता
है, जिससे 𝟐𝟎%का लाभ होता है। सोिा सेट
की लागत मलू्य ज्ञात कीजिये:
a) Rs.𝟑𝟔𝟎𝟎 b) Rs.𝟑𝟖𝟎𝟎
c) Rs.𝟒𝟎𝟎𝟎 d) Rs.𝟒𝟐𝟎𝟎
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A watch dealer pays 𝟏𝟎% customs duty
on a watch which costs Rs. 𝟓𝟎𝟎 abroad.
He desires to make a profit of 𝟐𝟎% after
giving a discount of 𝟐𝟓% to the buyer.
The marked price should be
एक घर्ी ववके्रता एक घर्ी पर, िो उसे
ववदेश में 𝟓𝟎𝟎 रु की पडती है,
𝟏𝟎% सीमा शलु्क देता है l वह खरीदारों
को 𝟐𝟓% की छुट देकर 𝟐𝟎% लाभ
कमाना चाहता है तो बताइए उसकी
अंककत कीमत क्या होनी चादहए ?
a) Rs. 𝟗𝟓𝟎 b) Rs. 𝟖𝟎𝟎
c) Rs. 𝟖𝟖𝟎 d) Rs. 𝟔𝟔𝟎

SSC CGL 2016 T-2



The price of a product after getting 𝟐𝟎%

discount is Rs 𝟑, 𝟎𝟐𝟒 which included 𝟓% tax

on selling price. What is the cost price if the

mark up % is 𝟏𝟐. 𝟓%?

𝟐𝟎% छूट के पश्चात ् ककसी बस्तु की कीमत
𝟑, 𝟎𝟐𝟒 रु है जिसमे बबक्रय मलू्य पर 𝟓%

टैक्स (कर) भी शाममल है| उस बस्तु का क्रय
मलु्य क्या है, यदद माकड अप % 𝟏𝟐. 𝟓% है?
a) 𝟒𝟎𝟓𝟎 b) 𝟐𝟎𝟒𝟖

c) 𝟑𝟔𝟎𝟎 d) 𝟑𝟐𝟎𝟎
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A shopkeeper allows 𝟏𝟖% discount on the
marked price of an article and still makes a
profit of 𝟐𝟑%. If he gains ₹𝟏𝟖. 𝟒𝟎 on the
sale of the article, then what is the marked
price of the article?
एक दकुानदार ककसी वस्तु के अंककत मलू्य
पर 𝟏𝟖% की छुट देता हट, परन्तु किर भी
𝟐𝟑% का लाभ अजिडत करता है| यदद वह
वस्तु की बबक्री पर ₹ 𝟏𝟖. 𝟒𝟎 लाभ प्राप्त
करता है, तो बस्तु का अंककत मलू्य क्या है?
a) ₹𝟏𝟒𝟎 b) ₹𝟏𝟐𝟓 c) ₹𝟏𝟐𝟎 d) ₹𝟏𝟒𝟔

SSC CGL 2018 T-2
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A shopkeeper allows 𝟐𝟖% discount on the
marked price of an article and still makes a
profit of 𝟐𝟎%. If he gains ₹𝟑𝟏. 𝟐𝟎 on the
sale of one article, then what will be the
marked price of the article?
एक दकूानदार ककसी वस्तु के अंककत मलू्य
पर 𝟐𝟖% की छूट देता है, किर भी उसे 𝟐𝟎%
का लाभ होता है|यदद उसे एक वस्तु की
बबक्री पर ₹𝟑𝟏. 𝟐𝟎 लाभ प्राप्त होता है, तो
उस वस्तु का अंककत मलू्य क्या है?
a) ₹𝟐𝟔𝟒 b) ₹𝟐𝟒𝟓
c) ₹𝟐𝟔𝟎 d) ₹𝟐𝟓𝟒

Based on SSC CGL 2018 T-2
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The Maximum Retail Price (MRP) of a product
is 𝟓𝟓% above its manufacturing cost. The
product is sold through a retailer, who bears a
loss of 𝟕% on his purchase price. What is the
profit percentage for the manufacturer who
sells his product to the retailer? The retailer
gives 𝟏𝟎% discount on MRP.
ककसी उत्पाद का अधिकतम खदुरा मलू्य उसकी
ननमाडण लागत से 𝟓𝟓% अधिक है उत्पाद एक
खुदरा ववके्रता के माध्यम से बेचा िाता है जिसे
उसकी खरीद मलू्य पर 𝟕% की हानन होती है|
खुदरा ववके्रता को उसका उत्पाद बेचने वाले
ननमाडता का लाभ प्रनतशत ककतना है?खुदरा
ववके्रता MRP पर 𝟏𝟎% की छूट देता है|
a) 𝟑𝟏% b) 𝟓𝟎% c) 𝟏𝟓% d) 𝟒𝟓%



A shopkeeper marks an article at such a

price that after giving a discount of 𝟏𝟐
𝟏

𝟐
%

on the marked price, he still earns a profit
of 𝟏𝟓%. If the cost price of the article is
₹385. then the sum of the marked price and
the selling price (in ₹) of the article is:
एक दकुानदार ककसी वस्तु पर इस प्रकार
मलू्य अंककत करता है कक अंककत मलू्य पर
𝟏𝟐

𝟏

𝟐
% की छूट देने के बाद भी उसे 𝟏𝟓% का

लाभ होता है। यदद वस्तु का क्रय मलू्य ₹385
है, तो वस्तु के अंककत मलू्य और ववक्रय
मलू्य का योग (₹ में) ककतना होगा?
a) 𝟗𝟒𝟖. 𝟕𝟓 b) 𝟖𝟒𝟗. 𝟓𝟎
c) 𝟗𝟖𝟒. 𝟕𝟓 d) 𝟗𝟓𝟒. 𝟕𝟓

SSC CGL T-2 2020
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A shopkeeper earns a profit of 𝟒𝟎% on the
cost price of an article after giving three
consecutive discounts of 𝟓% , 𝟏𝟎% and
𝟏𝟓% to a customer. What would have been
the profit percentage, had the shopkeeper
given discounts of 𝟓% and 𝟏𝟎% only?
कोई दकुानदार, ककसी ग्राहक को 𝟓% , 𝟏𝟎%
और 𝟏𝟓% की तीन क्रमागत छूट देने के बाद
ककसी वस्तु के क्रय मलू्य पर 𝟒𝟎% का लाभ
कमाता है| यदद दकुानदार केवल 𝟓% और
𝟏𝟎% की छूट देता है, तो लाभ प्रनतशत ज्ञात
करें|
a) 𝟓𝟗. 𝟕𝟏% b) 𝟔𝟔. 𝟕𝟏%
c) 𝟔𝟒. 𝟕𝟏% d) 𝟕𝟒. 𝟕𝟏%

SSC MTS, 8 Oct 2021, S1



A trader gains 𝟐𝟓% by selling an article
with 𝟐𝟎% discount on its marked
price. If the cost price of the article
increases by 𝟑𝟎% , then how much
discount (in %) should he offer on the
same marked price to gain 𝟏𝟓% of
profit?
एक व्यापारी, एक वस्तु को उसके
अंककत मलू्य पर 𝟐𝟎% की छूट देकर
बेचने पर 𝟐𝟓% का लाभ प्राप्त करता
है। यदद वस्तु के क्रय मलू्य में 𝟑𝟎%
की वदृ्धि होती है, तो उसे 𝟏𝟓% लाभ
प्राप्त करने के मलए उसी अंककत मलू्य
पर ककतनी छूट (% में) देनी चादहए?
a) 𝟓. 𝟏𝟐% b) 𝟓. 𝟎𝟖%
c) 𝟒. 𝟖𝟕% d) 𝟒. 𝟑𝟐%

SSC CGL T-2 2020
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A dealer gain 𝟐𝟎% by selling an article at
𝟐𝟓% discount on its marked price. If the
cost price of the article is decreased by
𝟏𝟓% , how much discount percentage
should he now give on the same marked
price so as to earn the same percentage
of profit as before?
एक ववके्रता ककसी वस्तु को उसके अंककत
मलू्य पर 𝟐𝟓% की छूट देकर 𝟐𝟎%का
लाभ प्राप्त करता है। यदद वस्तु का क्रय
मलू्य 𝟏𝟓% कम हो िाता है, तो अब उसे
उसी अंककत मलू्य पर ककतने प्रनतशत की
छूट देनी चादहए ताकक उसका लाभ
प्रनतशत पवूडवत बना रहे?
a) 𝟑𝟐. 𝟓𝟎% b) 𝟑𝟓%
c) 𝟑𝟔. 𝟐𝟓% d) 𝟑𝟕. 𝟕𝟓%

SSC CGL T-2 2020
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A dealer allows 𝟏𝟗% discount on the marked
price of an article and gains 𝟏𝟕%. If the cost

price of the article increases by 𝟏𝟏
𝟏

𝟗
%, how

much discount percentage should he allow
on the marked price so as to earn the same
percentage of profit as before?
एक ववके्रता एक वस्तु के अंककत मलू्य पर
𝟏𝟗% की छूट देता है और 𝟏𝟕% लाभ कमाता
है| यदद वस्तु के लागत मलू्य में 𝟏𝟏 𝟏

𝟗
% की

वदृ्धि हो िाती है, तो उसी अंककत मलू्य पर
ककतने प्रनतशत की छूट दी िानी चादहए ताकक
लाभ के प्रनतशत में कोई पररवतडन न हो?
a) 𝟏𝟎% b) 𝟏𝟐. 𝟓%
c) 𝟏𝟎. 𝟓% d) 𝟗. 𝟎𝟗%

SSC CPO 2019
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